Consolidation work 26 Second Level ***

1.  1.6 + 1.02 + 7.4

2.  164.5/100

3.  51.2 x 1000

4.  20% of £20.60

5.  2/9 of 3600mls

6.  Write four fifths as a decimal, fraction and percentage. 

7.  0.35 litres = ____ ml? 

8.  The ratio of Irish to French pupils is 1:3. There are 12 Irish pupils, so how many French? 

9.  Simplify 270/810

10.  1 adult ticket for breakfast costs £23.06. How much for 5 adults? 

11.  Round 5438.9546 to two decimal places. 

12.  5 – 7

13.  9c + 6 = 42

14.  What is the missing angle in this straight angle: 45 degrees and ??

15.  What is 8 squared minus 6 squared? 

16.  What is the area of a rectangle with: l = 8cm and b = 2.8cm?

17.  Order from the smallest to the biggest: 13.04, 13.4, 13.14, 3.4, 3.03, 3.87

18.  If I buy 4 cards, each one costing £3.61 and I pay with a £20.00. How much change? 
19.  2971 + 21 + 3456 + 345 

20.  4371 – 2736 
